ooogbogogad

gbobobogggbboobn
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du

a = f($’u)’ u(O) =a (1)
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oooooo

000000000 200000000 2000 w(z) 0000000000000
000 (0000 A 0000000000000000000000000 (0000
0)0 z,00 n0000 2z, 000000000

x, =2y +nAx, n=0,1,2,...
gobboddde, 00000 o0 w, 0000
o IO OO
Upt1 = Up + Az f(2,,uy), n=20,1,2,...

Uy = a

Upi1 = Uy + ;(f(xn,un) + f(zpy, un + Axf(xn,un))), n=20,1,2,...

o OO IOON
Upt1 = Up + Az f(Tpi1,Unr1), n=0,1,2,..., n
Uy = a
0000000000 ooooooodO w,yy 000000 f(r,w) OOOOO
goddddlstep UOO0OUODOO0ooooong

F(u) :=u—u, — Az f(x,11,u) =0
O« odooogooooodnf w,,, 0000

e JOO0O
Az
un—f—l:un+—<f(xn7un)+f(xn+17un+1)>u n2071727‘”
2 (5)
Ogooodn Istepd0doooooon

Fu):=u—u, — %(f(xn,un) +f(xn+1,u)> =0

guobogoooggo



guobbogobobbobobobbbogoouobbbobobobooooboun
gooon
F(u)=0

Doooooooo 90000000

P L A [ 5/((2[[]2]))7 k=0,1,...
gobboboobogd
goooooooobon
gogdgd
%:exp(—u), u(0) =0
gobooobooa
Up g = Uy + AT exp (=, 1), uy =0, n=0,1,2 ...,

goboooooooooooo
u(z) =log (z+1)

0000000 Az 0 Ax=1/2"(i=3,4,...,12) 000000000 z=10000
0 log2 = 6.9314718055994530941---x 107! 0 z=1(=2'Az) 0000000 Ugy; L
guodboodooobboooobobbobob

i Uy, log, | OO |
3 | 6.7251548E-01 | -5.599E+00
4 | 6.8258180E-01 | -6.565E+00
5 | 6.8779925E-01 | -7.547E+00
6 | 6.9045652E-01 | -8.538E+00
7 | 6.9179763E-01 | -9.533E+00
8 | 6.9247134E-01 | -1.053E+01
9 | 6.9280900E-01 | -1.153E+01
10 | 6.9297802E-01 | -1.253E+01
11 | 6.9306258E-01 | -1.353E+01
12 | 6.9310488E-01 | -1.453E+01
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Backward Euler method

Solving u’=exp(-u), u(0)=0,

AW+~



! Exact solution is
! u(x)=log (x+1)

: Program Backward_Euler

implicit none
integer:: i
real (8):: dx,u0,ul,x0,x1,T,f

T=log(2.40)

write (*,? (M—————mmmmm o "y
write (*,’ (" log_2 dx u log_2(lerror|) "y )
write (¢,’("-———————— ")

do i=3,12
dx=2.d0**(-1)
u0=0.d0
x0=0.d0

do while (x0+dx <=1.d0)
call solve(u0,dx,ul)
ul=u0+dx*f (ul)
x1=x0+dx

x0=x1
ul=ul
end do
write (x,>(" ", 6i3," ",1pd15.7," ",1pd10.3)’) -i,u0,log2(abs(ul0-T))
end do
write (%, (M===—=——————mmmm "))

: end Program Backward_Euler

: éubroutine solve(u0,dx,ul)

implicit none
real (8):: yO,y1,u0,ul,dx,err,f,g

yO0=u0

err=1.d410

do while (err > 1.d-14)
y1=y0-(y0-u0-dx*f (y0))/(1.d0-dx*g(y0))
err=abs(y1-y0)/abs(y1)
yO=y1

end do

ul=y0
return

: end subroutine solve

: function f(x)

implicit none
real (8):: f,x
f=exp(-x)
return

: end function f

: function g(x) ! gx)=f’(x)

implicit none
real (8):: g,x
g=-exp(-x)
return

: end function g
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000000 Eder 0000 2 =1000000000000000000O00
y(x) = exp(2z)/(exp(2z) +1) OO O O
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http://wuw.pna.eis.akita-pu.ac.jp/ ozawa/Lecture/Grad_Schl/HandOut02.pdf



